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3 Read the following text and answer the questions.
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(Source: James C. Zimring, What Science Is and How It Really Works)
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(Source: Virginia Morell, “Bumblebees bite plants to make them flower early, surprising scientists” National Geographic)
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Bumblebees from the po]Ien-deprlved colonies busily damaged-the plarits.

Bumblebées from the p'ollen-fed colonies ingested the leaves.

. Bumblebees from the pollen-deprived colonies rarely damaged the plants:
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Bumblebees from thie pollen-fed colonies busily damaged the plants. -
Bumblebees from the pollen-deprived colonies ingested the leaves.

Bumblebees from the pollen-fed colonies rarely damaged the plants.
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Read the following text and answer the questions.



(Source: Bill Bryson, Notes Jfrom a Big Country)

Question1 Why does Walt pronounce Norwich differently to most people in Norwich?

Choose the correct answer.
(a) Because Walt was not born and raised in Norwich.
(b) Because Walt:is too lazy to pronounce Norwich correctly. |
(c¢) Because when Walt was small, Norwich was pronounced differently by the
villagers.
(d) Because when Walt was small, Norwich was an outpost of Elizabethan
England.

(e) Because Walt is trying to preserve his dialect.



Question 2 Why do locai-people in Ocracoke speak in a strong accent? Choose the correct

answer. - . .
- (a) To make themselves sound different from outsiders.
{b) Because the federal government built a bridge.
() Because their parents spoke the same way. "
(d) Because they.do not want to make mistakes when they speak.

(e) To help tourism become a strong feature of their island.

Question 3 - What does the article say-about dialects in America today? Choose the correct

o answer,

- (a) Once dialects have disappeared, they are lost forever. -
(b) Dialects disappear because young people prefer not to use them.
(e¢) Disappéaring dialects can recover, but only in special circumstances.
{d) The disappearance of dialects is a major problem for small communities.

{e) Local dialects will grow if tourism is reduced.

Question 4 Look at the sentence below, which has been removed from the text.

Question 5

In what position —II, should it appear? Write the correct number in
the box.
In consequence these days you are far less likely than you once were to

hear locals pronouncing cow as ‘kyow’.
Do you think local dialects and éccepts should be preserved? Give two specific

reasons to support your opinion. Write your answer in English in the space

provided.
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" (Source: Eric Banks, “Where have all the horses gone?” London Review of Books)
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(D A world with horses must have been as hard to picture as it is for us to
- imagine a world with cars and trucks. - |
@ A world with horses must have -been as ea'sy to picture as it is forus to
- imagine a world without cars-and trucks. |
@ A world without horses must have been as easy to picture as it-is for us to
imagine a world without cars and trucks. \
@ A world witl:m_ut horses must have been as hard to picture as it is for us to
imagine a world with cars and trucks. o
® A world without hofses musf have been as hard to pict'ure as it is for us to

imagine a world without cars and trucks.





